Percent-of-Sales Forecasting Problem
Bimbo


The Corporation Expect sales to grow by 12.5% in the coming. Costs are expected to increase at the same rate. The firm expects all assets (both current and fixed assets) to also increase by 12.5% to support this new level of sales. Current liabilities will also increase in relation to sales. This firm has a dividend payout ratio of 60% and is in a 34% tax bracket. Determine the amount of new financing the firm will need to support this increased level of sales.

	Beginning Income Statement

	

	Sales
	
	 $3,100,000 
	
	

	Costs
	
	   2,600,000 
	
	

	
	
	
	
	

	Taxable Income
	      500,000 
	
	

	Taxes (34%)
	      170,000 
	
	

	
	
	
	
	

	Net Income
	
	      330,000 
	
	

	
	
	
	
	

	Dividends
	
	      198,000 
	
	

	Retained Earnings
	 $   132,000 
	
	

	
	
	
	
	

	
	
	
	
	

	Beginning Balance Sheet

	

	

	Assets
	Liabilities and Equity

	Current Assets
	 $4,000,000 
	Current Liabilities
	 $   750,000 

	Fixed Assets
	   3,000,000 
	Long-Term Debt
	   1,250,000 

	
	
	 
	
	

	Total Assets
	 $7,000,000 
	Total Liabilities
	   2,000,000 

	
	
	Equity
	
	   5,000,000 

	
	
	 
	
	

	
	
	Total Liabilities + Equity
	 $7,000,000 


